Math 11 Name: KEL .
Transformation Review Sheet Class: Date:

Lultiple Choice
[dentify the choice that best completes the statement or answers the question.

Q 1. Write a description of the rule (x,y)— (x+10,y + 8)
(a) translation 10 units to the right and 8 units up (¢) translation 10 units to the left and 8 units down
", (b) translation 10 units to the right and 8 units down  (d) translation 10 units to the left and 8 units up

D 2. Point 4 (-2, -10) is reflected over the x-axis. Write the coordinates of 4.
(a) (2,-10) (b) (2.10) (©) (-2,-10) @) (-2,10)

Q 3. Point D (2, 4) is rotated 180° about the origin, what is the coordinate of D*?
@ (42 @2 ©) (~2.-4) @ (-4-2)

4. Which of the following transformations does not result in a congruent figure?
(a) dilation (b) rotation (c) reflection (d) translation

X
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(. 5. What set of coordinates will provide the vertices
for the translation of AXYZ two units to the left?

@ X'(L1), Y'(6,4). 2'(4,-2)
() X'(-1,3), ¥'(4,6), 2'(2,0)
(c) X'(— 3,1), Y'(2,4), Z'(O,—Z) TR KEe g
@ X'(-31), ¥'(1,4), 2'(-2,0) :

(6. If this triangle was reflected over the y-axis
to form AH'J'K', what would be the - ]L’i
coordinates of vertex K'? 7
74
() (6,-6) 2 .
(b) (6.6) 5
: ) o X
(c)( 66) - dj-ﬂ-" 1 4
(d) (~6,-6)
6 7. Using the graph below, what is the rule ; :
for a translation from point 4 to point D? k { S
@ (6p)>(E+4-1)  (© (®y)>E-4y+1); n RN
\ .

®) (5y)>(x-Ly+4) @ (xy)>+Ly- 4)“%
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& 8. CD was dilated around the origin by a scale factor of 2. The endpoints of the image are C" (4,0) and
D'(6,2). What are the coordinates of the endpoints of the original line segment?

(a) C(2,0)D(3,0) (b) c(z,o), DBL) (o) C(2,0),D(1,1)_ (@ €{4,0),D(6,2)

ﬁé 9. Point X (-3, -2) is translated using the rule (x, y) = (x+3, y +4), then reflected over the x-axi. What is
the coordinate of X7 (o, 1) : 5

(@) (0,2) ®) (0.-2) © (~2,0) (@ (2,0)
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X _ 10. A rectangle is plotted on the coordinate plane.
Which image shows a 90° clockwise rotation about the origin? : -
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1> 11. Which transformation will always produce a congruent figure?
a. (6y)2(x~55y) bxy)>0Gry) c@y)>Gx5) d@xy)D(x-5y+5)
12.  Polygon ABCDE is plotted on the grid. r i 31_17 ]
a. The point A has been transfi) ed to the pomt ( LD, i C ] —eegent
describe the transformation. Trige, le-led 1| (s Ao T I
e A Mygm \L, it 5 ’
b. The point B has been transformed to the point(6,3), [T I TTT LT
describe the transformation. Q_&:!gc b ore !1 = -x {me - ; :L, -
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: ? : , € Describe how you could move the soli'd polygon L to exactly
;' i ~ : m@tclb?e dashed polygon using a series of two transformations.
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14.  Quadrilateral ABCD is plotted on the grld below

u [

k(50 2lio o) \b(z,) L(‘Kt)

K8 ¢G4 b (-13) (- (
a. Onthe graph, draw the image of quadrllateral ABCD

after a counterclockwise rotation of 90° about the

[ origin. Label the image 4'B'C’D".
ﬁ b. On the lines below, éxplain how the coordinates of A
T changed to thz coordinates of 4'.
- A CV/A\, ~ “‘A;’Cj
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15.  The coordinates of triangle HKL are H (-2, 3), T
K (4,2),and L (3, -2). Write the coordinates of triangle : ’ l ’ ) f
H’K’L’ after a rotation of 180° counterclockwise. EEEREEEREEENENER HEE
A H : . H r :
raph the pre-image on the graph and shade the image. “‘“—-«.ﬁ__"_x’\ L
\"""" : ‘F’ 4 : i d
H (7, -3) .
K (- q ~1) .
L (- ()

16.  Triangle R (6, 4), U (-8,0), N (2, -2) has the transformed coordinate of R (3, 2).

a. Write the algebraic rule for the transformation

o
N-
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of R’U’N” and the coordinates of point U” and point N f |
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b. On the graph, draw and label triangle R"U"N” | L “’_ _7*‘1;/' .
after a translation of R 'U’N’ using the rule (x, y) — (x -2,y+ 5). el G Qc—-‘ Ty Vi
Write the algebraic rule of the composition of the transformations -1 'hi‘f',il:__h_\/
in Part A and Part B. ket T
/ l ) .
Uf,b\j ~7('/Lx'?—i/z.3’rs’\ Bt
‘w. € Isthe resulting figure similar or congruent to the original figure? s |

31\/“\ : \'GA‘




